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This paper consists of two parts -Part - I (25 MCQ) and Part -I1 (6 essay type).

The use of non-programable electronic calculator is permitted.

Mobile phones and other electronic devices are totally prohibited. Please leave them
outside

Part -1

Recommended time to complete the Part -Lis - 1 hour.

Answer All questions

Choose the most correct answer to each question and mark a cross ‘X’ over the answer on
the answer sheet. ;

Any answer with more than one cross will not be counted.

Part -11

Consist of 06 (six) essay type questions in three sections (A, B and C).
Answer only four (04) questions out of six.
Answer at jeast 01(One) question from each section (A, B and’ C)

If more than 04 (Four) question are answered, 0nly the first 04 (Four) will be marked.
Planck’s constant h = 6.63 x 103 J s :
Velocity of light C=3 x 10° m s
Avogadro constant L = 6.023 x 103 mol!
1 atmosphere =760 torr = 10° N m™
Gas constant R =8.314 J K mol!
Ine = 2.303 logto

Relative Atomic Mass, I1-1, C-12, O -16, 8-32, CI-35.5, K-39, Mn —55, Ag -108, Ba -137
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PART I

Answer All questions

1. What is the name of the sugar given below? swn ¢leds deemded aened sn@s Dned

CH,OH

HA  QoH
H
OH H

HO
H OH

(1) B-D- Glucopyranose
(2) B-D- Glucofuranose
(3) a-D- Glucopyranose
(4) u-D - Glucofuranose
(5) a-D - lactopyranose

© 2, Whatis the hybridization of the carbon in polyethylene?
ol OF8sT wew D §ud@wmdess Dned

(1) sp 2) sp’ @) sp @) spd* (5) sp*d
. 3. Which of the following is a purine base? eswm cufedn D8 Byt vddes Dned,
(1) thymine (2) cytosine (3) adenine (4) uracil ) g]ufathione

4. Which of the following molecules is a sweetener?
uem edn SHIBx efhde mdmuent Dxned
(1) magnesium oxide ... - (2) aspartame -+ (3) glycine
(4) sulfuric acid (5) aspartic acid

5. Which of the following statements is false regarding hypoglycaemia?
wBeene @8&3@@@ w@RIRewsy vun Eledn Dostd gneds! D168 DosThe Dned

(1) This is a health condition related to sugar.
Ow 88 eridews? D5 ewedn®n nEDwes.
(2) Hypoglycemia leads to dizziness.
»BeufdcBBEwD Heo BEDH g8 od.
(3) During hypoglycemia brain cells are deprived of energy.
©8Bed cBB8wd Hw erged conEbed amBe aled,
{4) This is a health condition related to carbohydrates,
e®e meddvi8ed DED e®BT) ewwdn nuinfdes,
(5) Hypoglycemia leads to fainting,
»w@eumd cEB3w® Ao wWeEarima g8 o,

6. Which of the following compounds is a polysaccharide?
onm s-owlo ends) el ewc8fer Ened
(1) starch (2) maltose (3) glutathione (4) linolenic acid (5) amylase




7. Which of the following statements is correct about the amine acid chain “Ala-Gly-Val”
“Ala-Gly-Val” vz q:®8e5d 288 0w esdariews? H0:08 DeoxiBe Oned,

(1) Ala is representing glycine. / Ala wp) dc@8s7 .
(2) Ala is the N-terminal resid ue./ Ala om N-goin w-admaol.
(3) Val is the N-terminal residue. / Ala ez N- golm weeDmed.
(4) This is a dipeptide, / e®w HBowvdOBLWA.
(5) Gly is representing glycerine./ Gly wx dBebsy «.
8. Which of the following compounds is NOT used as an anesthetic?
son Beocdo gods! ABsicment exnbped
(1) diethyl ether (2) phenol (3) haloethane

(4) cholroform (5) nitrous oxide

9. The increasing order of Amex of the following molecules is represented in,
BOHGLR CHOBTDI BG® §rIBed Anx 80 D180e® BEedeE Dmed

o S ST N .
R NG =
I a b c ,
(Da< b<c (2) a<c<b (3) b<c<a {(@dc<a<b (5) b<a<c¢

10. Select the correct fragment/s for butane (C4H o) consisting main peaks at m/e 45, 29, 29 and 31
show in mass spectrum, ‘
(CiHig) O m/e aoasid 45,2929 w0 31 o doold) D8mDEed wew Gredned swn
8% gomes? wews ¢!

+ +
+ P +
Ch,  ~NgH St e+ cH, St
a b c d 0 f

()d,c,aandf (2) f,c,aand b (3)b,c,dand f (4)d,c,bande (5)a, b,cande

11. What is the volume [in cm’] of 0.3 mol dm™ oxalic acid required to react completely with
28.0 cm? of 0.15 mol dm™ KMnOs solution?
wasteenes 0.15 mol dm™ KMnOs 98=3 28.0 cm® ©8g8emenst® yifuwe 8500 adax (.3
mol dm? @8 88 8880 (cmPemon®es ?

(1) 30.0 (2) 70.0 (3) 280 (4 14.0 (5) 35.0

12. A 50.0 cm® of 0.12 mol dm™ BaCl, solution was reacted with excess amount of Na;SOq
Solution. The amount of white precipitate obtained in grams is,
wordeems 0.12 mol dm™ BaCla 50.0 cm?® =t 0®e £:856 NaxSOs 5885w wsg) 50
Cream g ¢hedned dmside Dred
(1) 1.42 2) 142 3)0.142 4)2.84 5)4.26




Questions 13 to 16 are based on the following.
yadm gom 13 80 16 ¢80 yalon wews goE @D,

A student prepared a 150.0 cm® of 0.04 mol dm = KMnQ4 solution using pure KMnOy solid
30.0 ¢m® of HaC204 solution is titrated with 24.0 cm? of this KMnOj4 solution.

Busews BEE¢ s KMnOy 0857 aovlgens 0.04 mol dm > KMnOs gdeswm 150.0 cm® ot
88ewr mom 8. wtesSa ¢®cs 30.0 cm’ o 0@ em@mme sewo KMnOs o240 om’
O Q?ﬁ 5B,

13. What is the amount [in grams] of solid KMnOs used to prepare 150.0 cm?® of above solution?
ebas 150.0 cm’® = BEowe B8O gben e KMnOs  dmside emo®es ¢?
(1) 0.158 (2) 0.474 (3) 0.0948 (4) 9.48 (5) 0.948

14, Consider the following statements. /swm gme® sc@msim.
(a) HzC20s solution should be warmed before starting the titration.
H2C204 ¢oDemw 2)@otsmned uo® onf mE wne.
(b) Phenolphthalein can be used as an indicator.
Borndn sy cdamae ecs ©I18m mos.
(¢) Titration can proceed with self-indicator.
o®® gm@emw Bho: (Sanmon dnews? mdm @&,
(d) Colour change at the end point is colorless to pink.
gD goinm clened DEen Bolains ¢D8es 80 edfenwd ¢ulth eb.
The correct statements for the above titration are
Coun gBStm 86wy BDICE yree Dmed

(1) (@), (b) &) (2) (b), (c) &(d) G @, @) &(d)
@ @, 0 & ) - (5) All (a), (b) () & (d)

15. What is the concentration [in mol dm™] of the above H2C,04 solution?
H2Co04 gobesed sosigans mol dm™ O8sY emon®en 67 '
(1) 0.04 (2) 0.40 (3) 0.8 4y 024 (5) 0.08

16. Consider the following reaction. /ewm BwidE scmzim.

(a) MnOy +6H" + 6e —» Mn?*t +4H,0

(b) C02~ — 200, + 2e

(¢) MnO; +8H* +5e — Mn%" +4H,0

(d) MnO; +3C,0%~ +6HY —» 6C0, + Mn?* +3H,0

the reactions relevant to above titration are
Qum ByDwmed g vido Dyned

H@&d) Q®&E @& @) &(d ©)Aall(a), (b)(c)and (d)
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PART 11

Section A (dnswer at least 01(One) question)

1. (a) (i) Define standard electrode potential of an electrode.

pocHedien s@8n gelEwedid Subae alid efdxlm.

(if) State the factors that affect the potential difference of an electrode.
@@@ﬁf@@d’&c&m PeEmiegld) Bud ebme wew AELD) em @B ¢

(20 marks)
(b) An electrochemical cell is composed of the standard zinc and copper half cells.
298 K 2 Zn es» Cu 88m geocwfeddooE duwlbens BEeDEsY
At 298 K, E° Zn*/Zn = - 0.76V and E° Cu*"/Cu =+ 0.34V

(i) Draw a complete diagram of this electrochemical cell containing these two half cells
and label it, )
P 9ocetdd crewdd.md 0f8rT vls vl By Swiwdim ewIBed g
Grw &g 8O g g8 gffiwe weus wdsT @ mdsin.
(ii) Indicate the anode, cathode, electrolytes and the direction of electric flow on this
diagram.
&8 mendda, groesyle , gerHleddm aEm Bambd cmen »OTIH.
- (iii) Write down the half equations for the oxidation -and reduction reactions.
gee SutBndes/@mBude yhfo Susim.
. (iv) Write down the overall cell reaction.for this cell.
c®8® emdpwd eoE dylea gBBwd Bewim.
(v) What is the function of the salt bridge.
chen eudned gewldmeo @t ¢7
(vi) Calculate the standard cell potential at 298 K.
- 298 K. 2 eveed 08n Seg Swdv oemme misis, (50 marks)

{c ) (i) State three factors affecting the rate of a reaction and explam how each of the
factors affect the rate of a reaction, :
9B wbm eluw emed AELm wddm pmE Suslm. Sw BB wdd dEem
oo BdmS masim.

(ii) Write down the mathematical expression for Arrhenius equation and explain
all the terms.
SR ed e®mdme 9&HEnOe gmide orlm. o8 og wertd e¢sinm.

(iii) Explain metal corrosion using an example.
condamen @87 ecdn Daveme Bund mdsis.
{30 marks)




2. (a) (i) Give the mathematical relationships for Resistivity and Conductivity, defining
all the terms: :
586 D®mmD 0 BrTENEHmD ©Hhnds 8dTDe el ded g1 ve wesits
@¢BIBY.

(ii) Derive the SI units of resistivity and conductivity.
88603 mBD w0 esTrnemmbed g SI Jom o osin.

(iii) List three factors affecting the conductivity of electrolyte solutions,
Best BDeder benom esitnemmbed §iE el nmw @¢sin.

(iv) Give three applications in conductivity measurements.
BBTEBHHNOBT #eE GBEd BB BLBIB.
(50 marks)

(b) (i) Explain Hess’s law giving a suitable example.
ened Bu®6 eoc &ondmon eocdst Bund mdsim.
(ii) State the “Law of Conservation of Energy”.
ol oBb8nme BB cdsin.
(ii) The following standard enthalpy changes at 298K are given for one mole of

each substance. .

Ol Oof weesDmwe wews 298K 2 99 Swm @@ i @B edbomw sum & g,

Enthalpy of combustion of 1-butanol, CH;CH>CH2CH,OH(l) = -2677 kJ
FPend@de com ddmEBw

Enthalpy of formation of carbon dioxide, CO2 (g) - =-393k]
CO2(g) OG clvocm S dBe
Enthalpy of formation of water, H20 (1) = -285kJ

H20 (1) & esfeacs OsmE8a
e Write the equation to represent the enthalpy of combustion of 1-butanol(l)
1-8@0ed@De comwd ape odmdamn Cosim.
» Calculate the enthalpy of formation of 1-butanol(l).
1-8@0endEOE asfees OximEB8e vomnmae BHEBIDY. ‘
(50 marks)

Section B (Answer at least 01(One) question.

3. (a) A titration between 0,15 mol dm™® ammonium hydroxide (NH4OH) and 0.10 mol dm™ HCI
was carried out using a suitable indicator as described below.30.00 cm?® HCI solution was
kept in the titration flask and ammonium hydroxide was added using a burette. Assuming
dissociation constant of ammonium hydroxide (NH4OH} is equal to one at 25°C and all the
experiments were carried out at 25°C,

sosfeene 0.15 mol dm™ #e®5Be® vBegundd (NH4OH) cbens eosigens 0.10 mol
dm HCl g0 odene g50 aae cSamast mBness? gn@ument Bemdn mmde snm
Sedmo emed,

25°C & NH4OH Besome £m® @mmndews? 8edsieos! o comdome @687 HCI
eDemewst 30.00 cm® & gm@us deodned noh Hgesdd B8st NH4OH ot mdn @&.
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(i) Calculate the pH of the HCI solution in the titration flask, before the addition of the

ammonium hydroxide.
#09Rwe® »Betpntndd onl BBOD yO© an®un derumed g HCl ¢ pH goe
BHDIB BSEIB.

{ii) Calculate the pH of the solution in the titration flask, after the addition of 10.00 cm’® of the
ammonium hydroxide (NI14OH) solution. Is the solution in the titration flask is acidic or

(iii)

(i)

v)

basic? Explain your answer briefly.

3108 Re® vBeinlds 10.00 e’ = SEeedmbmd Ol W oy b= pH gme
DEREIS HOFID). DD Gbenn qeo@ézs) ¢ 9d®m ¢ wrim emdews! Budmd @osin.
Calculate the volume of the ammonium hydroxide (NHsOH) solution required to reach

the equivalence point or endpoint.

gt cutes md o8& 4das (NH4OH) g®ene co@f-ozs)ca @OsTm.

After reaching the equivalence point. Another 10.00 cm?® of the ammonium hydrox1de
(NH4OH) solution was added to the titration flask. Calculate the pH of the solution in the
titration flask.

guim catened 58 &He®@st vy Ofigs 10.00 em® = (NH4OH) o med @ pH gqow
BHBIG HOBTH.

Sketch a graph for the variation in pH of the mixture in the titration flask with volume of the
ammonium hydroxide (NH4OH) solution added (titration curve). Label the axis indicate pH
on the y-axis and the volume of ammonium hydroxide (NH4OH) solution added on the x-
axis. Clearly mark the pH of the points (such as starting, end and equivalence point: Calculate

. the pH at equivalence point is not expected)

pH goe y- aatesd ¢ NILOH o380 1 gilewd eox deuedned pH gow eusIed epq:)@-
NH4OH 80 0Bordodm gumde eon pH dne glsim. 82 anfe @880 58 mdvim.

amin cteend pH goo oamne B850 derowedinin eswed.
(60 marks)

(b) A water sample contain SO%~ ions. 50.0 cm® of this solution to excess of a diluted solution of

BaCl

1, was added with stirring: The precipitate formed was washed with water and dried in to

solid. The mass of the precipitate was 0.651 g.

S0%-

goe qom gieg 50.0 om? esdsc g@veswst BaCl ©w@e 8g BR800 meawisw g

abtedued evilst eedg 0dE 0fd0 Grean gdedved drside 0.651 g .

(®

(it) -

(b)

Determine the concentration (mol dm™>) of SO3~ ‘ions in given water sample
sced ghq S04 wrligens neme mOsin.

The solubility of AgS0; at 25°C in water is 1.48 x 107 g dm™ Calculate the solubility
product.
25°C2 AgSO; qumBE cobumod 1.48x 107 gdm™ 5® gbum @dEne owmne
HEBTE. (40 mairks)
Write a short note about / s ¢ BE€D¢ emd wowzd Swwix.
(i) Accuracy /SO (i1) Random sampling /gu@® w:@o@8mden

(12 marks)

Whalt is chromophore? / emp®end ey n@uxf ¢7
(10 marks)
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(¢)  Draw all the isomers of CsHg Indicate the one with the longest Amax Wavelength,
CsHz 9e gee Bog w@odm Dyw gig 085 0® Anx gow oasitn Dyw endcsis.

(18 marks)
(d)  Consider the following X, Y and Z molecules /X, Y wow Z  wcw®s!
CH;s
CH; - CH, 7 C - CHO CH3CH,-0-CH; CH; — CH; — O — CHz — CH;
CH;
X Y ' Z

(i) Identify the number of signals in 'HNMR spectra in the following X Y and Z molecules.
X,Y o Z £c0 secdobe HNMR 08endBed codn oo 0ams nem ©uls,

(ii) Predict the intensity and splitting pattern multiplicity of each of the signals in above X, Y and

Z molecules,

OB oD BYmbw, Betder gumde wcws? mIsim.
(40.marks)

(&)  25.0 cm® of 0,2 mol dm™ oxalic acid solution was titrated against KMnO4 solution in acidic
medium 25.0 cm? of KMnO4 solution was required for get the end point .

eosteens 0.2 mol dm? 2 @mleSa g@cw 25.0 cm’ ©do cpm@ammc& eews GOEm
Sased 8 KMnOs ¢demenst 25.0 cm® o Oy Q&
(i) Write equations for the reaction taking place in this titration (Oxidation/Reduction)
208 amPromed goc RulBmden/RuaiBuden dowdin wdmde Cwsin.
(ii) ~ Write the balanced chemical equation for the total reaction.
w®un yBEwd v BED Swem w@mdaeme Susin.
" (iii)  Calculate the concentration of KMnOy solution.
KMnOy edemed susicsmas omme m»3sis,

(20 marks)

Section — C (Answer at least 01 (Oi';e:) question)

5. a) Glyceraldehyde HOCH;CH(OH)CH(=0) is the simplest sugar found in nature having a
chiral carbon.,

FBed8»38 HOCH2CH(OH)CH(=0) 65 £800:0m0 w80 q¢u@8B8m mazT
808entn dn e3dE BE gendA.

i)  What is meant by chiral carbon? ge@88m w0z vy 9@ &7
iiy  Draw the Fischer projections of D- and L-glyceraldehydes,
D-wsw L- dCedE8»iEd wwn Bad Dyw glsim.
iti) What is meant by D- and L notification in sugars?
D- e [, sn@mcens anedst gou Dolest m® ¢? (25 marks)

b)  Nucleic acids are macromolecules consisting of long, linear molecules.
Bl Ewd g®c wm 88e edfv angbedn o,
i) What is the monomer of nucleic acids? / BuwlEat ¢8c O¢ I eDwdme @ ¢?
if) Give three major components of the monomer you specified in b)i.
gum b)i) egwe D st I gdeBmed iy ©-60m BB ChheesIm.

11




iii) Give the number of hydrogen bonds between adenine and thymine in DNA
DNA 0@ 3 B85 ow n88sf gnd vddn H aslos owm e¢sis. :
(25 marks)

¢) Water treatment is required to provide clean water for drinking purposes.
geo BBuwned, BB8Be valle dewn wol® wgwo gpudas ¢d.
i) Identify the purpose of the following steps in water treatment.
e BBuweed sun cufedn BudddE gbanmd nwgmw ouim.
e  Acrating water by spraying it into the air/ Somw® e Be®sd
e  charcoal filtration/ e 0@ cud®
¢  Adding Chlorine/ wfecd8sl dmn BB

i) Name two chemicals added to settle down suspended solids in water treatment.
B BBmweed & deed mebn wm 0 ¢dul AT eewmo owog oish St Bz
o el O wosim. (25 marks)

d) 1) The following reaction scheme represents the synthesis of a pain killer,
paracetamol. Draw the structures A and B.
von ctedsies] 808008 J Hdvicmed & wbn Bo Sendm yBifwds] «.

o8 A eown B ocw Oxv gdxsin. ‘ (10 marks)
1 o4
E NO,
NalNC, A .
f H3804 *
i
| B CH3COOCOCH3 -
B

ii) What are the different forms of cholesterol found in the human body? (10 marks)
&8s 866 me ©§Om (cholesterol) £ s DE® ©@o5D) ¢7

iii) Give a use of cholesterol in the human body.
emecdeddd (cholesterol) 88ed Boid wawm Dous 800 odnba e¢sinm.

(5 marks)
6. (a) Write down the systematic TUPAC names for the following carboxylic acids.
oo edn moeRmBE 8¢ wews IUPAC 5@ eqgsim.
(1) CH;CH2CO:H (i) CHaCOH (iti) HOOCCOOH (15 marks)

12




(b) Give ONE use of the following compounds.
wwm s-oede O o geadtme 985 eguim. |
(i) CH3CH2COH (i) CH3COzH (iii) methanol
' (15 marks)
(¢) Draw the structures for the reaction of formation of a diester by ethylene glycol
(HOCH,CH,OH) and acetic acid.
oB8s SeBomdd wy a8 e uBBw WS wigm B8 O30S s YBE WD wewo
Oyw glsim. (30 marks)

(d) Write the chemical formulae of the fatty acids with the following shorthand notations
and classify the fatty acids as unsaturated or saturated.
wwm ceteds e8¢ g@c wam & i @m3 ewe® (shorthand notations) wgmyw oz oo
omatdn ewd goemnds 0®¢ adc ece BUGmdwme »ovim. ‘

() (14:0) (i) (18:1)w9 (iii) (18:2)9,12  (iv) (I18&:1)9
' {40 marks)

FEE R R EE AR SRR R EREER R RN AR R AR R RSN R R RS AR RS R R RRRRRRRIRRRRRERRRRERRRNRRENERHNDS)
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17. 25.0 cm® of KOH solution is completely neutralized with 30 .0 cm® of 0.125 mol dm™ sulphuric
acid [H2504] solution The concentration [in mol dm™] of the KOH solution is,
sorsteenes 0.125 mol dm? & [:S04] sdBuss q0c gdomem 30.0 cm’ =3 KOH gdes 25.0
om’ = 8857 wdulmoewst @ codm Drfest m® KOH gdemed wirdgene mol dm? o8t
Dmed
(1) 0.05 (2) 0.15 (3) 0.125 (4) 0.30 (5) 0.25

18. When a reaction proceeds in a sequence of steps, the overall rate is determined by,
BBt Bodd nammnBs! B¢ Drfes! m® 08 wddd svg Blsme dned
(1) conceniration of reactants in different steps / 880 Bwdode gBHem»Oc eaozsi’g@?;
(2) slowest step /ew@si® 8¢s Bwdd
(3) fastest step / @PwOIE Bwdd
(4) molecularity of the steps/ aegmmis odim Bedd
(5) order of the different steps / 8288 Buode evg

19. The emf of the cell Cu(s)[Cu®(aq)|Ag™(aq)|Ag(s); given that E® Cu/Cu® = - 0.34V and E°
Ag/Agt=-0.80V is,

Cu®)|Cu®*(ag)liAg (aq)|Ag(s); ends ed emf gov Dned
CEYCu/Cu?*'=-0.34V and E® Ag/Ag" = - 0.80V ob.
(1)+046V  (2)-046V (3) +1.14V (4)-1.14 (5)-0.12V

20. Which one of the following is involved in determining the enthalpy change of a reaction?
som & @B »6RdEs RO yABdn SximEE c0m DR HBbeme BB gpc 0D ¢?
(1) Initial and final enthalpy change of reaction.
BB Dm wd®wm wY edum SximEs ebms O8x,
(2) Activation energy of the reaction. .. __
3B E @D wBom B 88s)
(3) The intermediates in the overall chemical reaction.
080 Senedin 5ABmed gnd®@ yerwn O8]
{(4) 'The number of stages involved in the chemical reaction.
GeoaBim 8BEwdm vdim Bedd oann &8
(5) Mechanism of the reaction.
ARG @ed wsiyens ®GsT

21. The amount of electricity that can deposit 108 g of silver from silver nitrate solution is,
BE0E 80050 ebmudst 8E08 108 g = Hdon B0O wewr cahie g Bogd uighas

(1) Tampere (2) | coulomb (3)1 Faraday (4)2ampere (5) 2 faraday

22. What is the unit of the rate of the reaction? A wilm eBwwd g dwme Dned
(1) molm?® (2)dm*mol's! () moldm’s?  (4) moldm?s! (5) mol dm™




23.

24.

Which of the following processes is endothermic?

sum RO 5¥Bwd mv ghealem o ¢?

(1) Condensation of steam. #EDode wflvwdmns 88

(2) The electrolysis of water. #ee Begsf 8dedeme 8@
(3) The freezing of water, gcw g88nmdea HTO,

(4) H'(aq) + OH (aq) — H20(1),

(5) Ca(s) + 2H20(1) — Ca(OH)2(aq) + Ha(g).

Which relationship is cotrect? @@ e@2530m00 HOCE 68 ¢7
(1) Conductivity = specific conductivity x cell constant
wsiemmbd = BEEW eastrnemmb X ende Heno
(2) Cell constant = conductivity/conductance
emie Bome = urisnemmb / erimemmebe
(3) Equivalent conductivity = specific conductivity x cell constant
@2 ositnemmt = B8Ed wrirnemmdae X emde Bome
(4) Molar conductivity = specific conductivity x cell constant
- @58 wrTonwmmmb = BEdd orimnemmmd X emie Baoma
(5) Molar conductivity = conductivity x cell constant
BOEm wrivnemnos = oslmnemmbe X emde Bone.

25. Consider the molecule given below. swm e scmsim.

K
R-$~cooH
H
(a) R can be H or an organic group (side chain).
R w@w H eosd nf ma8im meeflon! enlo wim.
(b) Middle carbon atom is called as P - carbon and optically active.
O o} 6d@rgmd B - modst D2 and Oe Y B@DGBHmmD euniDE.
(¢) Middle carbon atom is called as « - carbon and optically active.
(d) ®L1 DRz 568renl o - mdsd D emd B© Yo® BBDWBwmD enstDa,
{e) This molecule is a bifunctional molecule.
080 agd B Hwimd gembS
Correct statement are / B038 ey Dmed

(D). (a), (b)and (c) only (2) (a) (b) and (d) only (3) (a), {c) and (d) only
{(4) (a), (c) and (b) (5) All four statements.




